Optional Wall/Tabletop Stand (PN 46-00885) "Mgtr?l(])fgm
MS9590 STAND INSTALLATION GUIDE ¢ reallyworlc foryou.

To fix mount the stand to the wall:

1. Drill two #39 pilot holes in the wall spaced 39 mm (1.54") apart on a Flex Stand Components (PN 46-00709)
horizontal centerline.

2. Install one #8 wood screw in each of the pilot holes, leaving a space
between the head of the screw and the wall surface.
Locate the two slots marked as "A" on the stand base in Figure 5. 0
4. Match the "A" slots on the stand to the heads of the installed wood
screws.
5. Slide the stand over the screw heads and down to lock the stand in place. @\/@
) — (D
Bottom View of Stand Base Side View of Wall Mount
90.00[3.54 ] g E)
Slide Stand Base N
39.00[1.54] Over Screws G
| -
R J
2X ©5.00[0.20] | Y r I Jhm >© E*m @—o 60—
TR ) ; -
el S \ em Item Description Qty.
2X 29,50 [0.37 ] g % !“éiii’vs A | Cradle Coupler 1
— 28 Qty. 2
8 = B | Cradle 1
C Flexible Shaft 1
A = Slots for Wall Mount A
Applications iF_ ;;? L)) D Screw Cap 2
Dimensions: Millimeters [ Inches ] T ZSC'_);JVQO(;&/OZM E Stand Base 1
- - F Ya" - 20 x %" Flat Head Phillips Screw, 100° Undercut 2
Figure 5. Figure 6.
G | #8 Round Head Wood Screw (for fixed mount applications) 2
Cradle Angle Warni
radle Angle ¥iarning H | M3-5x20 mm, Pan Head Phillips Screw 1
J M3 Flat Washer 1
K | M3 Split Lock Washer 1
L Flexible Shaft Cover 1
Figure 1. Stand Components
November 2007

Printed in the USA

Copyright 2007, Metrologic Instruments, Inc. “l‘ ‘H“ ‘ | |
00-052498B

-4- -1-



Flex Stand Assembly (PN 46-00709)

Va" - 20 x %" Flat Head
Phillips 100° Undercut Screw

Front Side &

Cradle
i M3 Flat Washer

Screw Cap/®‘~ ' M3 Split Lock Washer

.. /M3-.5x20mm
v\\ Pan Head, Phillips Screw

@\ Screw Cap

—Flexible Shaft Cover
Cradle Coupler

4" - 20 x %" Flat Head :
Phillips 100° Undercut Screw —g

Figure 2. Stand Assembly

Optional Flex Stand Fixed Mount (PN 46-00709)

1. In the kit, two #8 wood screws have been
provided for fixed mount applications.

2. When choosing the stand location, make
sure to consider the front orientation of the
stand (indicated in Figure 3).

3. On a centerline, drill two #39 pilot holes in
the countertop spaced 125 mm (4.92") apart.
The stand base can be used as a guide for
the spacing of the pilot holes.

4. Secure the stand base to the countertop with
the two #8 wood screws provided.

Figure 3.

Drill Two #39 Pilot Holes for
#8 Round Head Wood Screws

120 mm (ref.) o L
7.72" (ref.) = N ]
¢
10 mm (ref.) ol e 125 mm .-
39" (ref.) 4.92"
. 145 mm _
B 5.70" "

Figure 4. Stand Base Hole Pattern (Not to Scale)

-3-




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (None)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 524288
  /LockDistillerParams true
  /MaxSubsetPct 25
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /SymbolMT
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 400
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /SyntheticBoldness 1.000000
  /Description <<
    /ENU ()
  >>
>> setdistillerparams
<<
  /HWResolution [1200 1200]
  /PageSize [612.000 792.000]
>> setpagedevice


